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T A A TGTGGTTTATGTTTTATTTGG A ATTAATCAGAATTATCC
T A A TG TG G T TTATGTTTT AT T TGGA-T T A A C A G A A T T A T C C
T A A TG TG G T TTATGTTTTATTTGG A ATTAACAGAATTAT C C
T A A TGTGGTTTATSGTTTTATTTGGAATTAACAGAATTATCC
T A A TG T G G T TTATGTTTTATTTGG A ATTAACAGAATTAT CC
T A A TGTGGTTTATSGTTTTATTTGGAATTAACAGAATTATCC
T A A TG T G GG T TTATGTTTTATTTGG A ATTAACAGAATTAT  CC
T A A TGTGGTTTATSGTTTTATTTGGAATTAATCAGAATTATCC
T A A TG TG G T TTATGTTTTATTTGG A ATTAACAGAATTATCC
T A A TG TG G T TTATGTTTTATTTGG A ATTAACAGAATTAT C C
T A A TG T GG TTTATSGTTTTATTTGGAATTAACAGAATTATCC
T A A TG TG G T TTATGTTTTATTTGG A ATTAACAGAATTAT C C
T A A TGTGGTTTATSGTTTTATTTGGAATTAACAGAATTATCC
T A A TG TG G T TTATGTTTTATTTGG A ATTAACAGAATTAT CC
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